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Questions 1 to 10 carry 1 mark each. Questions 11 to 15 carry 2 marks each.
For each question, four options are given. One of them is the correct answer.
Make your choice (1, 2, 3 or 4) and shade your answer on the Optical Answer

Sheet,

(20 marks)

5
1 Janice is? as tall as Xiao Ming. What is the ratio of Xiao Ming’s height

to Janice's height?

(1y 6:7
2y 7:5
(3) 5:12
4) 7:12
2 A pail contains 28  of water. A tark contains 800 times as much water

as the pail. How many litres of water are there in the tank?

(1)
(2)
(3)
4)

69

16 400 ¢
224001
64 400 ¢

224 000 ¢
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What is the value of — +

LN
o=

. 3
1) 3
3

( =
(2) y
2

3 —_
(3) 15
4 13
(4} 15

In the number line below, what is the value of X 7

3
2 23
| | | | i | | |
! | | | t | I |
t
X
1
(1) 22
3
(2) 2'1"5'
5
(3) 2?6'
1
(4) 25
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3 5
What is the value of ; % 5 ?

"
@ =
@

4 ==

3
P of a pizza was shared equally among 5 people. What fraction of the

pizza did each person receive?

1 55
2) —
@ =

4y ==



Express 10.01 kg in kilograms and grams.

(1) 1kg1g
(2) 10kg1g
(3) 10kg10g

(4) 100kg10g

Ninety identical pencils cost $57.60. What is the cost of one such pencil?

(1) $0.54
(2) $0.64
(3) $0.74
(4) $6.40

Sathya had 250 fruits. 50 of them were papayas, 110 of them were
mangoes and the rest were pears. What percentage of her fruits were
pears?

(1) 20%
(2) 36%
(3)  44%
(4) 64%



10  Which one of the following is likely to be the mass of a honeydew sold in
a supermarket?

(1) 25g .
(2) 25¢

(3) 235kg
(4) 250 kg

11 The length, breadth and height of a box are in the ratio 3 : 2 : 1
respectively. The length of the box is 6 cm. Find the volume of the box.

(1) 12cm?
(2) 18cm?
(3) 36cm®
(4) 48cm?



12  The solid below is made up of 1-cm cubes. How many more 1-cm cubes
must be added to the solid to make it a cuboid measuring 4 cm by 3 cm

by 4 cm?
(1) 27
(2) 28
(3) 29
(4) 30



13 The table below shows the number of bicycles sold each month by a

shop.
Month Number of bicycles sold
January 53
February ! 150
March i 124
April 76
May 99
Which of the following bar graphs best represents the information shown
in the table?
(M
Number of

bicycles

sold l l

41

January February
2)

March April

Number of

bicycles
sold

January February

| -

March April May

(3)

Number of

bicycles
sold

m

January February
(4)

March April May

Number of
bicycles
N |

| -

January February

75

Marcls April May
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14

15

3 1
Sally had some apples. 5 of the apples were red. She then gave 5 of

the red apples to her sister. What fraction of Sally’s apples were given
to her sister?

O
@ -
@
@

The first 15 numbers of a number pattern are given below.

9,0,8,6,9,0,8,6,9,0,8,6,9,0,8, ...
1st 15t

What is the 274% number?

(1 0
2) 8
(3) 8
4) 9
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Questions 16 to 20 carry 1 mark each. Write your answers in the spaces
provided. For questions which require units, give your answers in the units
stated. (5 marks)

16 Findthevalue of 72+8-2x3+ 77,

Ans:

5
17 The breadth of a rectangle is 5 m and its area is 2 m?.  Find the length
of the rectangle. Express your answer as a mixed number in its

simplest form.

Ans: m
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18

The ratio of Shina’s test marks to Kyle’s test marks was 3 : 7. Shina
scored 16 fewer marks than Kyle. How many marks did Kyle score?

Ans:
19 Round 199.99 to 1 decimal place.
Ans:
20  Mrs Pereira baked 400 tarts.  45% of the tarts she baked were egg tarts

while the rest were chocolate tarts. How many chocolate tarts did Mrs
Pereira bake?
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Questions 21 to 30 carry 2 marks each. Show your working clearly and write
your answers in the spaces provided. For questions which require units, give
your answers in the units stated. (20 marks)

21 75% of a number is 38, What is the number?

Ans;

22 Derinda had 25 m of ribbon. She used it to make as many flowers as

2
possible. She used 5 M of ribbon to make each flower. How many

metres of the ribbon were ieft?

Ans: m

w
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1
23 Brenda had 6 £ of orange juice. She drank 3 of it in the morning and
1

gave 7 £ of it to her brother. How much orange juice did she have left
in the end?

Ans: g

. .3 2
24  |n a camp, the number of children is — of the number of adults. = of

8 9
the children are boys and there is an equal number of men and women.

What is the ratio of the number of girls to the number of women?

Ans:




25

Clarence, Amir and Jun Wei received some stickers. The ratio of the
number of stickers that Clarence received to the number of stickers Amir
received was 4 :9. The ratio of the number of stickers Jun Wei received
to the number of stickers Amir received was 4 ;: 3. Clarence received
24 stickers. How many stickers did Jun Wei recejve?

Ans:

26

The ratio of the number of sweets Rachel had to the number of sweets
Euodia had was 2 : 3 at first. After Rachel bought 8 more sweets, the
ratio of the number of sweets Rachel had to the number of sweets Euodia
had became 5 : 6. How many sweets did Euodia have?

Ans:
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27

Mr Tan had $20 more than Mr Lee at first.  After Mr Tan spent $50 and
Mr Lee spent half of his money, both of them had the same amount of
money left. How much money did Mr Lee have at first?

Ans: $

28

Diane wanted to train for a marathon. She started by running 1.6 kmin
the first week. She increased her distance by 1.2 km every week from
the previous week. Find the total distance that she ran in the first 5

weeks.

Ans: km
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29

A wire 210 cm long was cut into 2 pieces and bent to form a rectangle
and a square. The length of the rectangle is 48.5 cm and its breadth is
38.5cm.  Find the length of one side of the square.

48.5 cm

¥ 3

v

38.5 cm

Rectangle Square

Ans: cm
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30 The table below shows the number of toys collected by Sunshine Centre
in Year 2021 and Year 2022. Part of the table is covered by an ink blot.
The number of soft toys collected and the total number of toys collected

were both three-digit numbers.

Type of Toys Year 2021 Year 2022
Wooden Toys 121 80
Electronic Toys 65 74
Soft Toys 1 200
Total number of toys .? 354

Each of the statements is either true, false or not possible to tell from the
information given. For each statement, put a tick (/) to indicate your

answer.

Statement

True

Not
False | possible
to tell

In Year 2021, more than 50% of the
foys collected were soft toys.

In Year 2021, 20% of the toys
collected were electronic toys.

In Year 2022, the number of wooden
toys collected was 40% of the
number of soft toys collected.

End of Paper
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Questions 1 to 5 carry 2 marks each. Show your working clearly and write
your answers in the spaces provided. For questions which require units, give

your answers in the units stated. (10 marks)
1 7 i
1 Jasper ran 6—1-—6 km. lIrfanran 2?5 km more than Jasper. How far did

they run altogether?

Ans: km

1
2 The mass of each sack of rice is 4-5 kg. Find the total mass of 45 such

sacks of rice.

Ans: kg

3 Joy had a meal that cost $32.50 before GST at a restaurant. What was

the cost of her meal after adding 8% GST?

Ans: $




4 Danny's scores for 5 games are shown in the table below.

Game Ast | ond | 3rd | g ) Bt

Score 8 0 7 16 9

_Find his average score.

Ans:

5 Siti has the exact amount of money to buy 84 bottled drinks or 126
canned drinks. She has already spent some of the money to buy 39
canned drinks and 42 bottled drinks. How many more bottled drinks
can she buy with the remaining money?

Ans;
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For questions 6 to 17, show your working clearly and write your answers in the
spaces provided. The number of marks available is shown in brackets [ ] at
the end of each question or part-question. (45 marks)

6 Miss Wong bought two identical suitcases at a year-end sale. The two
suitcases cost $174 after discount. Find the price of one such suitcase
before discount.

/\/“\__/
yEAR-END SALEI[

40% discount for all suitcases

W

Ans: (3]
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Mr Mohammad took a taxi from home to his office.

His taxi fare was based on the charges shown below.

First 1 kilometre or less $4.30
Every additional 400 m or less $0.24
Every 45 seconds of waiting or less $0.24

The taxi stopped once at a traffic light and travelled a total distance of

7 km to reach his office. Mr Mohammad paid $9.10. What was the
longest possible duration the taxi stopped at the traffic light?

Ans:

(3]
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A rectangular tank measuring 32.5 cm by 22.5 cm by 18 cm was

5
§—ﬂlled with water as shown below. When Kamala poured 7 litres of

water into the tank, some water overflowed. Find the volume of water

that overflowed, Give your answer in litres.

18 cm

22.5cm

32.5 cm

Ans: , [3]
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9

Amrit had some sugar at first, He used 275 g of sugar' to bake some

3
muffins and 5 of the remaining sugar to bake some cookies. In the

1
end, he had 5 of the sugar left. How much sugar did he have at first?

Ans: {3]
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10

In a class of 42 children, the average mass of the children was 37.5 kg.
The average mass of the girls in the class was 36.7 kg. The average
mass of the boys in the class was 38.8 kg. How many more girls than
boys were there in the class?

Ans: (3]
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11

A group of children is put into 2 halls, hall A and hall B. The ratio of the
number of children in hall A to the number of children in hall Bis 3 : 8,
In hall A, the ratio of the number of boys to the number of girls is 5 : 2.
There are 18 girls in hall A.  Find the total number of children in both
halls.

Ans: [3]
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12 In the figure below, ABCD is a trapezium. APB, DQC, RCS and PQR
are straight lines. APB is parallel to DQC and AD is parallel to PQR.
ZBCS = 50°, ZBCQ = 90° and LQRC = 85°.

(a) Find £DQP.

Ans: (a) [2]

(b) Find ZADQ.

Ans: (b) [2]
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13

Ashraf had some money at first. He spent 15% of it on food and $810
on a new laptop. He then gave 20% of the remainder to his brother. In
the end, he had $304 left.

(a) How much money did Ashraf give to his brother?

Ans. (a) . [2]

(b) How much money did Ashraf have at first?

Ans:  (b) [3l

10
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14 Susan had 117 beads and marbles altogether. The beads and marbles
were either white or black. 20% of the beads and 50% of the marhles
were white. There were as many black beads as black marbles.

(a) In the statement below, circle the phrase ‘more than', ‘fewer than’
or ‘the same as’ that correctly describes the comparison between

the number of beads and marbles Susan had.

The number of beads Susan had was
( morethan / fewerthan / thesameas )

the number of marbles she had.

(b) How many beads did Susan have?

Ans:  (b) , [3]

11
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15

Christopher and Helen had 1044 erasers altogether at first.

Christopher

4 5
gave 5 of his erasers to his brother. Helen gave P of her erasers to

her sister. In the end, Helen had 150 erasers more than Christopher.

How many erasers did Christopher have at first?

Ans:

4]

12
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16 The figure below is made up of 2 squares, ABCD and DEFG. X is a
point on GD and Y is a point on DE. BC = 7 ¢cm, FE = 6 cm and
XD =DY = YE.

7 cm

o D v E

(a) Find the total area of the shaded parts.

Ans: (a) {3}

(b) What fraction of the figure is unshaded?

Ans:  (b) [2]

13
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17

The table below shows the number of clips in different coloured

containers.
Colour of container Number of clips in each container
White 30
Blue 50
Green 60

(a) Gwen has a total of 10 white containers and green containers.

(b}

What is the smallest possible difference between the total number
of clips in Gwen’s white containers and the total number of clips in
her green containers?

Ans:v (a) [2]

Clement has some white containers and some blue containers,
The ratio of the total number of clips in Clement’s white containers
to the total number of clips in his blue containers is 3 : 2. Express
the number of his blue containers as a fraction of the total number
of his containers.

Ans: (b) [3]

End of Paper

14
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Primary & ( }

3 What Is the value of § +% ? .

i
_‘-a
f

(1)
@ 2, - 13
(3

@ 5

4 In the number fine below, what is the value of X7 9 b
16
' 3
2 I 23
] I i I | l | 4 |
T { I | ! 1 + T 1
X
_2.5
w2z *
@ 2>

4 2

{0 Janice's helght?

wae  Ming : Janicg
myos:7 T 5
@ 7:5
(3 5:12 (9,)
4y 7:12

2 A pail confains 28 L of water. A tank contains 803 timss es much water

as the pail. How many litres of water are Ihere in the lank?

3
8 iif a pizza was shared equally among 5 people, What fraction of the

pizza did each person receive?
3
O %
4 —gr = _i
@ 5 C
K r F
@ 2 =3 4L
R
w =

. .
1 Janica is_—, as 1all as Xiag Ming. Whalt is lhe ralia of Xiao Ming's heighl
——

(1) 164001
(2) 22400¢ 28 X 800 = 28 X§ %ivo
(3) 64400 = 224 %o
4y 224000t -
- 22 400
(2) ¢
2.8
3 €
Ak
5 Whallsihevaluaa!gxg?
R 15
[} = R = I
m 3 T 2 1
15
2 1
15
@ 7 (>)
]
(4) 3
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1”2

Express 10.01 kg in kilograms and grems.

&)
(2)
)
“4)

40

1kg1g
10kgta
10kg10g

100 kg 109

Y
00t ¥ 1000 = {0

(3)

Ninety identical penciis cosl $37.60. What s the coslof one such pencil?

m

(3
4)

50.54
50.64
50,74

56,40

$5160 = 90 = ¢57-6o=9+10
= @?qoﬂo

= go-bYy
(2)

an\
o

-5

>

o

3
-3k

[

Sathya had 250 fruits. 80 of them were papayas, 110 of them were
mangoes and the rast were pears. Whal percentage of her fiuits were
pears? .

a
(2
(3)
(4)

20%
36%
44%

64%

pears —» 250~ 50 -~ ho

= 200 — NG

= 4o
Q0 _ 9
350 285%™

- 3

100
= 35 %

Tho oolid bolow ic modo up of 1 am cubss. How many more 9-con cubes
must be addad fo tho colid to mako 1 a cuboid-meaturing 4 cm by 3 cm

by 4 cm?
M 27
@ 28
3 28
4y 30

12 #Y

3>
o
W2
~
=
)

it

A%

) 4a+b 410 5 2

48-2] = 27

(0

10

13

13

Which ane of the follewing Is likely to be the mass of a honeydew sold in

a supermarkal?
(1) 2549

(2) 25g

(3) 25kg
(4) 250k

3

L 8H

The {engih, breadlh end height of a bax are in the rmalio 3:2: 1
respeclively. The length of the box is 6 cm. Find Lhe valume of the box.

@
3
@

12 orp?
16 em?
38 cm?

48 am?

3 units =

1 unt

2 unts

Vo€ =

Wx&wlhxh‘ejg’ﬁ
6 X KB A2
a% %2

" &)

The table below shows the number of bloyules suld sauh month by v

shop.
C ‘Month ““Nambar. of Blcyelo soldic Y
I January 53 s jeast
Foabruaty . {50 1 most
March 124
Apdl 78
May~ 80
Which of the folowing bar graphs best rEp.rasenls the informalion show
in the table?
)
Number of|
bicydes
sold
January February March  April May
@
Number of
bicycles
sold
January February Marmch  Apil May
(3)
Number of]
bicycles
sold
January February March  April May
@
Numnbet of
bicyclas
sold -
January February March . Apilf May
20
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Name: { )
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Class: Primary 6 ( }
e S i = 88R2 L8
M o i & Yoy
@ 6 2%
34 .
. - 32
3 s ) 2 [ Booklet B [ 125 ]
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Please sign and return the examination paper the next day. Any queries
should be raised at the same time when returning paper.
8
| . s K
Questions 16 fo 20 carry 1 mark each, Write your answers in the spaces 18 The catio of Shine's (est marks to Kyle's test marks was 31 7. Shina
provided. Far questions which require urits, give your dnswers [n the units scored 16 fewer marks than Kyle. How marty marks did Xyle score?
siated. (6 marks) e
1-3=4
16 Find the valug of 72+ 8~ 2 x 3+ 77, 4 s =16
1238 %377 (ounit > DTl
= 4
= g .pyd+ 17 7 units = 4R
= 28 (any)
= -f 471 Ans: 28
= 3411 19 Round 198.99 to 1 decimal place.
= P (and) Lo
Ans: &0 149- ‘j 9 % 3c0-0 (ans)
17  The breadth of a rectangle is -g- mend it areals 2 . Find the tennth Ang; 200.0
of the rectangle. Express your answer £s a mixed number in (s
simplest farm. : 20 Mrs Pereira baked 400 tarts.  45% of tha tarts she baked were agg tarts
L . vehlie Ihe rest were chouolate lars.  How many chocolate tarts did Mrs
Persira baka?
s 5 on
length = 2 % oo — 45% =55 % T 45 a00
ek oo * = T ASKY
s a.b 55 oo > 180
T X 3 {00 i
- 2 . 400 - 1460 = 320 (ang)
5 = 55xh4
= Q% m anj‘) R = 220 CGM‘)
25
Ane =2 o .om
o Ans: 220
s ‘ 2 3
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Questions 21 to 30 camy 2 marks each.  Show your working clearty and write
your answers In the spaces provided. For questions which reyuira units, give

your answers in the units slaled, {20 marks)
21 75% ol a numberls 36. Wnatis he number?
oR
= . 3
a5, —> 36 5% =
o —> 36 %3 3
35 % —> - 34
. = 12
wh l_'{' —y 36h 3
100 ./. -3 \3%‘# = (2
= 48 (ang) R R
= 43 (av)
Ans: _________‘_4_%'_____,

22 Derinda hed 25 m of ribbon,  Sho used it to make as many llowers as

2
possibio.  She used 3 m of fobon to make each llower. How many

melres of the ribban were feit?

Kk ¢F
= 2 = 3
37 %73 22 x5
2 75
=4 = 15
5 2
A = %

2 1
THAE =3m )

b

Ans. | - e TR

Olarence, Ami and Jun Wai receiven enme stirkams The rallo of the
numbecof stickars \hat Clarenge received lo the nuniber of stickers _A_r\_'\‘ir
recoivadwas 4: 9. The ratio of the number of sfickers Jun Wel receved
to (he number of alickers Amir received was 4 ; 3. Clarepce recsived
24 stickers. How many stickors did Jun Wel recejve?

¥+ B
Claren® * fAmir Jun wei  : Amn
4 9 4 3
j2 9
A unitS =24
| ouniy = AREH
= 6

12 upits = b X12

= 7Y (ans) Ans: 12 _

The ratlo of the number of sweots Rachel had to the numbst of sweels

26
Euodia had was 2 : 3 at first.  Alter Raghel bought 8 mora sweels, the
ratio of the numbsr of swaets Rachel had to the number of swaets Euodia

had became 5 : 8. How many swaets did Euodia have?

A“' %r‘ﬁ'/ . End )
flachel - wadia Rachei * Euodid
20 3 5 16
4 b
. s-4=]
|unit = 8
b uns = § 86
- A A8
= 48 (ans)

guodia  consiant

104

3

23 Brenda had G § of orange juice. She drank % af ikin the moming and

1
gave r tof it lo her brother.  How much orange juice did she have lefl

i the eng7
morring - TR °-f’-
= 32
L - 6-3 - %
= 2,1}; __.ILF
= ‘J% £ (ans) 3
1

3
24 in a camp, the number of chiidren is 2 of lhe number of adults. § of

{he children are boys and there [s an egual number of men and women.
What is lhe 1&to of the number of gifls {6 the riumber of v-glmcn?
N
chidren ¢ Aduly boys Girls : children
3+ 8 2 1 9
g : an

2 =232

Girls * Women
T 12 fans)

27 MrTan had $20 more than Mr Les at first. After Mr Tan spant $50 and
Mr Lee apant hatf of kis money, bath of them had the same amousnt ot

quney fefl.  How much meney cid Mr Lec havo gt fiml?

eft Seot $50
My Tan | [ #2207
Wl [T
’ P e N ——

teft syen¥

y uniy = $50~ $20
= $30

2unts = &I0OR2

= $b0 fons)
Ans: $__00

28 Diane wanted to traln for a mamthor.  She startad by running 1.6 kmin
the first week,  She increasad har distance by 1.2 km avery week from
the provious waek. Find the totat distance that she ran In the fint §

weeks.
w16
md b ki
Vi

I b AC2T02
4 b A 122402

s b L2 40202

1645 = 8

2% =12
20

P4+ = 20 (onf) Ana: km




23 A wire 210 om long was cut inlo 2 pieces and bent to form a rectanglo
adrd & syueare. The tnglh of e reclangle s 48,5 on and s bréudih is
38,8 cm.  Find the length of one slde of the square.
48.5¢m
38.5ecm
L1
Reclangle Square
; Porimeter of rectongle = (485 +38.5) %2
(435
+ 385 - 871 %2
10 1
=Y
97 N0~ VM T 36
%3
i
36 x4 = 9 m (ans)
x¢;;¢ te
- Nk
3b
Ans q m
7
' 3'5%“'
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should ba raised at the same tima when retumning papar.
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30 The lable below shows the number of loys collected by Sunshine Centra

in Year 2021 and Year 2022, Pad of Ihe lable is cobered by an ink blot,
The number of soft foys collecled and the lotal number of toys cofiected
were both theee-dight numbars,

Type of Toys Year 2021 Year 2022
Weoden Toys 124 80
Electronic Toys 85 74
Soft Toys 1 200
Telal number of toys .2 354

Ezph of the statemanls is either true, false or not possibls to tell from the
Information given, For each stalemenl, pul a tick {7} lc indicale your

answer.
Not
Statement True False | possible
io tell
PAHES =196 |1 vear 2029, more than 50% of he v
1oys collected were solt toys.
2%k fﬂ. 4 | In Year 2021, 20% of the tays
© % 7?8570 e dted were efectronic toys. v~
= 325
IC.Q"O -3 32-5¥Ig
= 325 | In Year 2022, the number of wooden
loys collacled was 40% of the \//
Lt +554180 number of sofl {oys collested.
=186t 190 8 = 49
2 36b 200 100
= 40%

Tl s i o3l i ab feasy 366 End of Paper

Quesntions 1 to § cany 2 marks each,  Show your working clearly and write
your answers in the spaces providad. For questions which requirs units, give
your answers In the urils stated. {16 marks})

1 7
1 Jasper ran 81—0- km. Irfan ran 2— km mors lhan dasper. How far did:

they run altagether?
ifan — J%ﬁ*’s_l!a
= gsﬁg
8% + i =i (o

Ans:

1
2 The mass of each sack of rica is 4§ kg. Find the fotal mass of 45 such
sacks of rice.

45 %45 = 139 (o)

Ans; ____._.__L’EL_ kg

3 Joy had a meal that cost $32,50 before GST at & restauranl,  What was
the enst of her meal aftyr adding 8% 9517

ok 48 % =(of %

Lof 43250 - #9510 (aan)
199 .

Ana:§_35:10




4 Danny's scoras for 5 games zire shown in the table below,

Game R LU I B L

Score 8 o 711781} 9

Find his average score.

Broxdtedd g0
5 R

- 5 (aw)
Ans: &

Sitt has the exact amounl of money to buy 84 botiled drinks or 126
canned drinks. She has already spent same of the maney to buy 39
canned drinks and 42 boftled drinks. How many muote bottled drinks

can she buy wilh the remaining maney?

9 botied —> DL conned

126

| bottled > ww canntd
SRS
7| =152

25 totHed -2 34 coned
B8 -2 ~ 52 ¢ p fuat)

Ans: ! 6

-7 Mr Moharmmad feok a taxt from home 1o his office.
His tax) fare was based on (he chorges shown below.

First 1 kllometre or [ess $4,30
Every ardilional 800 m oF [ass 5024
Every A5 seconds of waiting or less $0,24

The tax} stopped once al 4 trafiic lighl and fravelled & total distance of
7 km {0 reach his office. Mr Mohammad paid $9.10.  What wes the

longest passible duration the taxi slopped at the traffic fight?
3-126
§ pn= oo m
gooo = oo 1%
15 % o2k = $3:60
4360 & %430 = £7.90
$9-10 — €17.90 = #1030
$1-20 = 0.2 = g5

5%45 = 215 s (ans)

Ans: 225 8

(3

For questions B lo 17, show your working clearly and writa your answers In the
gpaces provided, The number of marky available is'show/in in brackets [ ] at
the end of each question or part-queslion. {45 marks}

6 Miss Wong bought two identical suitcasses al 2 year-end sate.  The fwo
suitcases cost §474 after discount,  Find the price of one such suitcase
Dbefore discount.

T — T
YEAR-END sm.e:ﬂl

40% discount tor all suitcoses I

e SN
{ sutcate qfler  discount > @Y% 22
¢80

j00% ~4o% = o

sy g b0 > w27

106

toh - 227 %h
= F550
ﬁlo‘
0% —> Fu50 *10

= $iuz (o)

Ans: Fiay (&)

8 A reclangular tenk measuring 32.5 cm by 22.6 ¢m by 18 cm vas
5
awﬂllad wilh water as shown below. When Kamala poured 7 lifres of
water Into 1he tank, soms water ovelowed. Find the volume of water

thal avarfiowed.  Give your answer in lres.

325cm

Yome of ¥ = 335 X 22-5 %8

33

B 1625

% % 13162-5 = 5850

k= 000 an’ “oog ~ 5850 = 1150

1 &0 cm5 s .15 4 (ong)

Ang: 5 2 13




o Amnt hord coma nugne at irat. . Hn ueed YZb g ot cogar {n bakn nomne

3
mufling and H of the remaining sugar (o bake some cookies. In Ihe

end, he had é of lhe sugar ief,  How much sugar did he bave at first?

remainger

| T
]

{ooxies et

£ p sugar =% 2 uniks

o T
8 @

2
¥ f sugar — >+48
2 b unis

6-5=1
1 ounids = 215
| uni+ = 275 =N
= 25
16 unbs = 25 Wi
T 400 g Cany)

Ans: 400 g I

11 Agroup of children is put inlo 2 halls, hall A and halt B.  The ratio of the
number of chiidren in hail A to the number of childrén In hall B is 3 ; 8,
[n hall A, the ratle of the number of boys 1o the number of girls is 5 ; 2.
Thare are 18 gids In hail A Find the lotal number of children in bolh

halls.
ln ﬂ‘/
‘}LB &,33: Girls : 4oial
3.8 5 2 7
212 56 5 6 3l

L units =48
I ounit = tB>6

2N+ 56777

TT uniys = 3077

Ans: 23] |
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bt s ol 42 elilidien, G averndge mings of the criran was 975 k9.

1
The average inass of e girds in the class was 36,7 kg. The average
mass of the boys In the class was 38.8 kg How many more girls than
beys were e b lhe dhaus?
P arg
3'&_ JE— R
éugpom{o-n method
42 %375 = 15715
& & q 5 B B

Suppese an 42 are giris

42 %367 = 15414

+
need 4o +op up

°-2 %) per girl

375 ~3677 08 I
|
f 1575 ~ 1s4i- 4 =33,

38 82~36.7 =2-}o

32.8-315 = 1.3
336 2200 7 by ik

P
needd to inke
away 13 g 42~ =26 - giris
per
b?j 2616 =0 (am‘)
1348 =21
4222 =22

12X2 = af -3 fumber of girle
X2 =16 - number of bayy

2 b = |o (ans)

12 i the fgure below, ABCD s a trapezium.  APB, DQC, RCS and POR
are stralght lines.  APB (s paraliel to DQG and AD is paraliel to PQR.
£BCS = 60°, £BCQ = 90° and ZQRC =95°,

(8) find £DQP.
ZRec@ = 18°- 90°- 50

°

= 40
£RQC = 8o -9s5"-40 "
T 45 fang
= Loap a
Ans: (a) 43 @

(b} Find <ADQ.

LA0Q = 10”45
=135 % (ons)

Ans () _ 135 2]




13 Asheaf had some money ot first.  He spent 15% of it on luod and $810
on a new faplop, He then gave 20% of the refmaindér to his brother. In
the end, ha had $304 jefl.

(a) How much money did Ashiral give to hls brother?
0% —20% = 0%

9o % of remainder —% $300

¥
{ 20 o8 vemander —> ¥80k =i
2 O$ (o)

Ans: (a) 376 @

{b} How much money did Ashraf have al first?

remginder  —5 $76 X5
S $38o

100%h — 15% = 5%

95 % - %38 %80
= %190
1 % - #n9e = 5
> fiy
ok 18 Xi00
= $ihoo (ons)
A () . $tHOD 1@

10

15 Christapher and Helen had 1044 arasers attogetheratfirst:  Christophar
’ 5
gave % of his erassrs la Qs hrather.  Halan gave 2 af hor srasaers o

har sister.  In the end, Helen bad 150 srasers more than Christophar.

How many erasen di¢ Christopher have ef first?

1wkt qay
Chrsrophes
k2 ok

Héen D:I[ m :J
A DU ——

ledt | qave

\'f/mqm hem of e

ame  unt

o
ey ([T

150532 50

345 = 1S units - CQuistopher
B I 2 o]
8 upi+s + 0o _.3 Helen
1548 = a3

2% unils + 400 .- folik

23 unitS * bAy

| unt = paB Y23
= 28
IS umls = 28XI5

Ans: . 420 14}

> 420 (ary)
- 12

108

14  Susan had 117 beads and marbles aliogelher. The beads and marblas
were ellher while or black. 20% of the beads and §0% of the marbles
were white. There were as nany black b marbles.

(2) In the statement below, circle the phease ‘more thar', lewer Ihar'

ar the same as' that cormectly describes the comparison between
(he number of beads and marbles Susan had,

The number of beads Susan had was

{ more than l(ﬁiwerthan)l the sameas )

the number of marbles she had.

M

(b) How many heads did Susan have?

16

0
Bo W e
frm— BREE Ay
booss [T T
: : } 7
marbte [ ¢ T ] s i ]
E—— pack —H& whit, —>
o 0%
. 4
0% = &
5 o2} tp > Em
spv, =
&3 3 a4
Lega FH
B ouads =UT R
|und = 0113 S+&213
: iy =0
9 13 unity 287
5 wivs = LV
S unids = 935 W
T 45 (ans) = A4S (ans?
Anes ) L AS 13

The figuie befuw is made up of 2 squares, ABCD and DEFG. Xisa
point on GD and Y Is & point on DE. BC = 7 dm, FE = § cm and
XD =DY =YE.

B A
3 ey F
7 em g sem
c s} Son Y %m E

{a) Find the total area of the shaded patts.
t+2=3
Area o ARCD T 3RTRT
= 2.5
Aron o AXYF S frm of DGPG — Area ADXY —Aves AYEF — A «
S (pae) — (2p3a3) = (ERANE) = (Fr3%8)
> 3 - 45-9-9
= B-5
a5 3135 = arcm’cgé‘;} ® __ 3%am” 1y
{b) What fraction of the figure is unshaded?
e o Bgure (TRT)+ (6% ¢)

= 49 + 36
E g5
asaded > §5 - 38
=4
e s 2 41
Ana: (b} 5 2
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Ihe (eble Lelow shows the number of cips (n ditterent coloured
wontainers,

Colour of container Number of clips I each container
While 0
Blue .50
Green 60

{a) Gwen has a _fotal of 10 white containers and green conlalners.
What is the smallest possibia differsnce between the fola) number
of clips in Gwen's white contalners and the lotal number of clips in
her green containers? - , .
Rumbher =i cips T green contner U i he

number o clips M whhie  coraingr .
Tor esy > Wk cniiners 5 | grean conteiner, the

.

¥ Zero .
2413

le:3=3p]
gxad4= 7
15-723 T+30 =210 Ans: () 30 12
ER L EIT 210 ~1fo = 30 (ens)

(b) Clement has some white containers and some blue contalners.
The ratio of the tolal numbsr of cfips in Clement's while confainers
to the total number of clips In his blue conlalners 1s 3: 2. Express
the number of his blue containers as a fraction of the total number
of his conlainers.

dif-feene

e cip b bide ehips
2 L2
50 100
150 43025 —> whit® coniginers
oo+ 50 3R ~3 hive coviney

21527
bue 2 e
ol T lan) Aes @y 73
End of Paper
1

gn
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